

$$= \ln(1+y) - 2 + 2y \arctan \frac{y}{1+y} \Big|_0^1 =$$

$$= \ln(1+y) - 2 + 2y \arctan \frac{y}{1+y} \Big|_0^1 =$$

$$= \ln(1+y) - 2 + 2y \arctan \frac{y}{1+y} \Big|_0^1 =$$

$$I(y) \Big|_{y=0}^1 = 0 - 2 + 2 \cdot 0 \cdot \frac{0}{1+0} = -2$$

Step 2. $I(y) = \int_0^y \ln(1+x) dx$

Integration by parts: $u = \ln(1+x), dv = dx$

$I(y) = x \ln(1+x) - \int \frac{x}{1+x} dx$

$I(y) = x \ln(1+x) - \int \frac{x+1-1}{1+x} dx$

$I(y) = x \ln(1+x) - \int (1 - \frac{1}{1+x}) dx$

$I(y) = x \ln(1+x) - x + \ln|1+x| + C$

$I(y) = 2x \ln(1+x) - x^2 + C$

$\square u(x) = \int_0^x f(t) dt - \int_0^y f(t) dt = 0$

$I(y) = \int_0^y \ln(1+x) dx = \int_0^y \ln(1+x) dx = \int_0^y \ln(1+x) dx$

$I(y) = \int_0^y \ln(1+x) dx = \int_0^y \ln(1+x) dx = \int_0^y \ln(1+x) dx$

$I(y) = \int_0^y \ln(1+x) dx = \int_0^y \ln(1+x) dx = \int_0^y \ln(1+x) dx$

$I(y) = \int_0^y \ln(1+x) dx = \int_0^y \ln(1+x) dx = \int_0^y \ln(1+x) dx$

$I(y) = \int_0^y \ln(1+x) dx = \int_0^y \ln(1+x) dx = \int_0^y \ln(1+x) dx$

$I(y) = \int_0^y \ln(1+x) dx = \int_0^y \ln(1+x) dx = \int_0^y \ln(1+x) dx$

$I(y) = \int_0^y \ln(1+x) dx = \int_0^y \ln(1+x) dx = \int_0^y \ln(1+x) dx$

$I(y) = \int_0^y \ln(1+x) dx = \int_0^y \ln(1+x) dx = \int_0^y \ln(1+x) dx$

$I(y) = \int_0^y \ln(1+x) dx = \int_0^y \ln(1+x) dx = \int_0^y \ln(1+x) dx$

$I(y) = \int_0^y \ln(1+x) dx = \int_0^y \ln(1+x) dx = \int_0^y \ln(1+x) dx$

$I(y) = \int_0^y \ln(1+x) dx = \int_0^y \ln(1+x) dx = \int_0^y \ln(1+x) dx$